

Ajibade Phares Toluwalimu

Mechanics Department

19/ENG051007

D. OJELAMI

Find $\frac{dy}{dx}$ or $y = \sin \frac{3}{x^2}$ using first principle

$$y = \sin \left(\frac{3}{x^2} \right) \quad \text{Let } h = \Delta x$$

$$\frac{dy}{dx} = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$$

$$f'(x) = \lim_{h \rightarrow 0} \sin \frac{3}{x+h} - \sin \frac{3}{x^2}$$

$$\text{if } \sin A - \sin B = 2 \cos \left(\frac{A+B}{2} \right) \sin \left(\frac{A-B}{2} \right)$$

$$= \lim_{h \rightarrow 0} \frac{2 \cos \left[\frac{\frac{3}{x+h} + \frac{3}{x^2}}{2} \right] \sin \left[\frac{\frac{3}{x+h} - \frac{3}{x^2}}{2} \right]}{\frac{\frac{3}{x+h} - \frac{3}{x^2}}{h}}$$

$$\lim_{h \rightarrow 0} \frac{2 \cos \left(\frac{\frac{3}{x+h} + \frac{3}{x^2}}{2} \right) \lim_{h \rightarrow 0} \sin \left[\frac{\frac{3}{x+h} - \frac{3}{x^2}}{2} \right]}{\frac{3}{x^2(x+h)^2} - \frac{3}{x^2}}$$

$$\frac{2 \cos \left(\frac{\frac{3}{x^2} + \frac{3}{x^2}}{2} \right) \lim_{h \rightarrow 0} \sin \left[\frac{3x^2 - 3x^2 - 6xh - 3h^2}{2x^2(x+h)^2} \right]}{2x^2(x+h)^2}$$

$$2 \cos \frac{3}{x^2} \times \lim_{h \rightarrow 0} \sin \frac{-6xh - 3h^2}{2x^2(x+h)^2}$$

1,

Since $\frac{\sin e h}{e} = e$

$$2 \cos\left(\frac{3}{x^2}\right) \times \lim_{h \rightarrow 0} \frac{-6x - 3h}{2x^4(x+h)^2}$$

$$2 \cos\left(\frac{3}{x^2}\right) \times \frac{-6x}{2x^4}$$

$$= \frac{-6x}{x^4} \cos\left(\frac{3}{x^2}\right)$$

$$= -\frac{6}{x^3} \cos\left(\frac{3}{x^2}\right)$$

(b) $y = \frac{4}{x^3}$

$$y + \Delta y = \frac{4}{(x + \Delta x)^3}$$

$$\Delta y = \frac{4}{(x + \Delta x)^3} - \frac{4}{x^3}$$

$$\frac{\Delta y}{\Delta x} = \frac{4}{(x + \Delta x)^3} - \frac{4}{x^3} \quad \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{4x^3 - 4(x + \Delta x)^3}{x^3(x + \Delta x)^3} \quad \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{4x^3 - 4(x^3 + 3x^2\Delta x + 3x\Delta x^2 + \Delta x^3)}{x^3(x + \Delta x)^3} \quad \div \Delta x$$

$$\frac{\Delta y}{\Delta x} = \frac{4x^3 - 4x^3 - 12x^2\Delta x - 12x\Delta x^2 - 4\Delta x^3}{x^3(x + \Delta x)^3} \quad \div \Delta x$$

$$= \frac{-12x^2 \Delta x - 12x \Delta x^2 - 4 \Delta x^3}{x^3 (x + \Delta x)^3} \cdot \Delta x$$

$$= \frac{-12x^2 \Delta x - 12x \Delta x^2 - 4 \Delta x^3}{x^3 (x + \Delta x)^3} \cdot \Delta x$$

$$= \frac{-12x^2 - 12x \Delta x - 4 \Delta x^2}{x^3 (x + \Delta x)^3}$$

$$\lim_{\Delta x \rightarrow 0} = \frac{-12x - 12x(0) - 4(0)^2}{x^3 (x + 0)^3}$$

$$= \frac{-12x^2}{x^6}$$

$$= \frac{-12}{x^4}$$

$$2 \int \frac{dx}{x^2 + 36}$$

$$= \int \frac{dx}{x^2 + 6^2}$$

$$x = 6 \tan \theta$$

$$\frac{dx}{d\theta} = 6 \sec^2 \theta$$

$$dx = 6 \sec^2 \theta d\theta$$

$$x^2 + 36 = 6^2 \tan^2 \theta + 6^2$$

$$= 6^2 (\tan^2 \theta + 1)$$

$$= 36 (\tan^2 \theta + 1)$$

$$= 36 \sec^2 \theta$$

$$\frac{6 \sec^2 \theta d\theta}{36 \sec^2 \theta} = \int \frac{d\theta}{6}$$

$$\frac{1}{6} \int d\theta$$

$$\frac{1}{6} [\theta] + C$$

$$= \frac{1}{6} \tan^{-1} \frac{x}{6} + C$$

$$\theta = \tan^{-1} \frac{x}{6}$$

$$6 \quad \int \frac{dx}{x^2 + 13}$$

$$x = \sqrt{13} \tan \theta \quad \rightarrow \quad \theta = \frac{x}{\sqrt{13}} \tan^{-1}$$

$$\frac{dx}{d\theta} = \sqrt{13} \sec^2 \theta$$

$$dx = \sqrt{13} \sec^2 \theta d\theta$$

$$x^2 + (\sqrt{13})^2 = (\sqrt{13})^2 \tan^2 \theta + (\sqrt{13})^2$$

$$= (\sqrt{13})^2 (\tan^2 \theta + 1)$$

$$= (\sqrt{13})^2 \sec^2 \theta = 13 \sec^2 \theta$$

$$= \frac{\sqrt{13} \sec^2 \theta d\theta}{13 \sec^2 \theta}$$

$$= \int \frac{\sqrt{13} d\theta}{13}$$

$$= \frac{\sqrt{13}}{13} \int d\theta$$

$$= \frac{\sqrt{13}}{13} [\theta] + C$$

$$= \frac{\sqrt{13}}{13} + \frac{x}{\sqrt{13}} \tan^{-1} + C$$